Math 109  Quiz 6    10/16/07  
 1.   The recommended adult dosage c (in mg) of a particular drug is given by the following equation where w is the person’s weight in pounds.  c = 1.9w+30.  A person receives a dose of 290 mg using this formula.  About how much does the person weigh?   260/1.9 or about 137 lbs
2.  The number of fires  in a county is as follows:

                1997      1998     1999     2000   2001
                 -------------------------------------------

                 8           11        14          16        18
Let x=2 correspond to 1997.  Find the straight line model for this data using the first and last years’ information. Then use this model to predict the number of fires in 2003.   

                     y=2.5 x + 3      23
3.  Solve the inequality     -4r < 12
                                r>-3
4.  Solve the inequality     -8 ( 3x+1 <7.
                            -3 ( x <2
5.  Solve the inequality     (y+5(  > 9
                        y>4  or  y<-14
